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1~4 FREEE » & 54 RAMEZE True B, False :
1.Let A and B be 2 matrices, then (4B)* = A*B>.
2.Let 4 and B be 2 matrices, then (4+B) ' =A4"+B",

3.If A isan n by » matrix , then AHT =41 .

4.1f A and B areboth 3 by 3 matrices, then
rank of 4B < rankof 4.

5~12 FERETHBE - 8 10 5 - DARERS SRR

00 2
5. Let 4=|0 3 0|.Find 47" .
4 0 0

1 1
6. Let A{ o ::} Find the rank of A" 4.

7. Let A=

S o=
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8. If A has 3 orthogonal columns each of length 2,

whatis A7 A4?

0
9. Let A:[ . (1) } Find the eigenvalues of A.

. Find a basis for the column space of A.

&

Hit |

H

10. Prove thatif A=A" and B=B", then A’-B’ is symmetric.

11. Prove that if A is not invertible, then AB is not invertible.

12. Prove or disprove: If 4 is 2 by 2 and A2=O,then A=0.




